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QUESTION 1

An administrator just upgraded the controllers and wants to nondisruptively implement Advanced Drive Partitioning
(ADP) as part of the change. 

Which statement is correct in this scenario? 

A. ADP cannot be implemented on this system. 

B. ADP can be implemented as long as all of the on-board drives do not contain data. 

C. ONTAP does not support ADP. 

D. ADP can be implemented, but only with a complete data-wipe and initialization. 

Correct Answer: D 

 

QUESTION 2

Click the Exhibit button. 

You are creating a new LIF on a new SVM named "bravo-fs2". The cluster is being used in a multitenancy environment,
and the bravo tenant has VLAN 105 assigned to it. You receive the error shown in the exhibit when you are creating the
LIF. You have verified that the IP address is correct and the existing IP addresses that are already configured are also
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correct. 

Referring to the exhibit, why is this error occurring? 

A. Two NetApp LIFs cannot have the same IP address assigned. 

B. Another device on VLAN 105 already has the IP address. 

C. The network switch VLAN configuration is incorrect. 

D. Using the same IP address on two LIFs requires different IPspaces. 

Correct Answer: C 

 

QUESTION 3

You have a vSphere Essentials Plus environment configured with NetApp LUNs for datastores. You are backing up the
environment using the SnapCenter Plug-in for VMware vSphere. However, you are having problems performing restore
operations using SnapCenter. 

What is a reason for this problem? 

A. NetApp Virtual Storage Console is required for restore operations. 

B. Only NFS datastores are supported with SnapCenter. 

C. A Windows-based vCenter Server is required. 

D. VMware Storage vMotion is not licensed. 

Correct Answer: D 

Reference: http://docs.netapp.com/ocsc-40/index.jsp?topic=%2Fcom.netapp.doc.ocsc-dpg-vm%2FGUID

49D66AC0-F012-4993-80BD-8F3353F80220.html 

 

QUESTION 4

Click the Exhibit button. 
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You are attempting a storage giveback, but the process does not finish successfully. Referring to the exhibit, what is the
problem? 

A. An aggregate has failed. 

B. There are active CIFS or NFSv4 connections. 

C. Node cluster-02 was not ready for giveback. 

D. The giveback failed on the node root aggregate. 

Correct Answer: D 

 

QUESTION 5

Two end-users are both connecting to the same SMB share, but end-user A sees different files and folders than end-
user B. 

Which statement is correct in this scenario? 

A. Access Based Enumeration (ABE) explains this behavior. 

B. NetApp Storage Encryption (NSE) explains this behavior. 
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C. End-user A is authenticating with NTLM. 

D. NetApp Volume Encryption (NVE) explains this behavior. 

Correct Answer: C 
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